The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Gettin	g On					Getting Out							Running Bas	ses		Getting Gone				Avera	ges				
	Games	Walks	Singles	Doubles	Trpl	s Homers	At the Plate		On the Ground		In the Air	Othe	ner	On	Over		Out		Exits	Batti	ng Avg.	On Base %	Sh	igging %				Γ
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	I 2* 2G	R 3	HR HY	KB KD KE KF KI KL KO KP	KS KU IOPOE	GO FC DP TP	FO LO	AKO TKO TK	2 TK3 UO	/ 1	PR BB X2	S2 S3 SI	H C2 C3	сн воов О	HB TB IO	BEj In Su X	Hits	AB BA	OB PA OB	P TB	AB Slug	тов О	TOB/O	SB SA	RI
0 W.Archer	M 14 0	1 - 0	19 0 0	9 0	2	1 0	0 0 0 0 0 0 0 0	0 0 0 0	2 2 0 0	16 1	0 0 0	0 0	6	0 0 0	0 0 0	0 0	0 2 2	0 0 0	1 0 0 0	31	52 0.596	32 53 0.6	04 47	52 0.904	33 2	16.5	0 0	16
00 P.Knight	M 36 0	3 - 0	31 0 0	2 0	0	0 0	0 0 0 0 0 2 1 0	1 0 0 0	13 11 1 0	26 5	0 0 0	0 0	24	0 0 0	0 0 0	0 0	0 4 4	0 0 0	0 0 0 0	33	93 0.355	36 96 0.3	75 35	93 0.376	47 4	11.75	0 0	18
00 D.Shrader	M 10 0	1 - 0	15 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	2 3 1 0	10 0	0 0 0	0 0	5	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 1 0 0	15	31 0.484	16 32 0.5	00 15	31 0.484	19 1	19	0 0	6
1 R.Crider	M 64 0	6 - 0	75 0 0	31 0	6	2 0	0 0 0 0 0 2 0 0	0 0 0 0	26 16 1 0	39 9	0 0 0	0 0	28	0 0 0	0 0 0	0 0	0 14 14	0 0 0	0 0 0 0	114	207 0.551	120 213 0.5	63 163	207 0.787	134 14	9.571	0 0	39
2 T.Frier	M 95 0	22 - 0	126 0 0	18 0	7	3 0	0 0 0 1 0 0 1 1	0 0 0 0	31 18 3 0	83 7	0 0 0	0 0	51	0 0 0	0 0 0	0 0	0 3 3	0 0 0	0 0 0 0	154	299 0.515	176 321 0.5	48 195	299 0.652	191 3	63.67	0 0	98
3 D.Bauer	M 3 0	0 - 0	6 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 2 0 0	0 0	0 0 0	0 0	1	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	6	9 0.667	6 9 0.6	67 6	9 0.667	8 2	4	0 0	4
3 L.Edwards	M 10 0	1 - 0	9 0 0	4 0	1	1 0	0 0 0 1 0 0 0 0	0 0 0 0	5 0 0 0	10 2	0 0 0	0 0	7	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	15	33 0.455	16 34 0.4	71 24	33 0.727	15 1	15	0 0	6
4 T.Hill	M 17 0	4 - 0	19 0 0	4 0	1	0 0	0 0 0 0 0 1 0 0	0 0 0 0	7 7 2 0	7 2	0 0 0	0 0	14	2 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	24	50 0.480	28 54 0.5	19 30	50 0.600	35 1	35	0 0	17
4 A.Postell	M 8 0	1 - 0	7 0 0	1 0	0	0 0	0 0 0 1 0 0 0 0	2 0 0 0	1 3 0 0	2 1	0 0 0	0 0	2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8	18 0.444	9 19 0.4	74 9	18 0.500	12 0	12+	0 0	3
4 D.Westover	M 14 0	0 - 0	12 0 0	4 0	3	2 0	0 0 0 0 0 0 0 0	0 0 0 0	4 2 2 0	14 1	0 0 0	0 0	10	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	21	44 0.477	21 44 0.4	77 37	44 0.841	21 1	21	0 0	18
5 T.McCoy	M 298 1	44 - 0	369 0 0	108 0	69	70 0	0 0 0 3 0 0 0 0	0 0 0 0	70 47 10 0	195 30	0 0 0	0 0 1	110	1 0 0	0 0 0	0 0	0 23 23	0 0 1	0 0 0 0	616	971 0.634	660 1015 0.6	50 1072	971 1.104	637 23	27.7	0 0	518
6 Bb.Wright	M 47 0	15 - 0	49 0 0	19 0	2	0 0	0 0 0 0 0 0 0 0	3 0 0 0	9 12 0 0	40 8	0 0 0	0 0	20	0 0 0	0 0 0	0 0	0 1 1	1 0 0	0 0 0 0	70	142 0.493	85 157 0.5	41 93	142 0.655	97 1	97	0 0	44
7 B.Blomquist	M 1 0	0 - 0	0 0 0	1 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	2 0	0 0 0	0 0	2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1	4 0.250	1 4 0.2	50 2	4 0.500	1 0	1+	0 0	0
7 D.Dennis	F 18 4	8 0 0	7 0 0	3 0	0	0 0	0 0 0 0 0 1 0 0	0 0 0 0	7 3 2 0	16 4	0 0 0	0 0	13	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 2 0	10	43 0.233	18 51 0.3	53 13	43 0.302	21 0	21+	0 0	8
7 D.Trull	M 4 0	1 - 0	2 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	3 0 0 0	6 0	0 0 0	0 0	2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2	11 0.182	3 12 0.2	50 2	11 0.182	3 0	3+	0 0	0
7 N.Uhry	M 13 0	1 - 0	16 0 0	5 0	2	1 0	0 0 0 0 0 0 0 0	0 0 0 0	4 6 2 0	7 1	0 0 0	0 0	6	6 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	24	44 0.545	25 45 0.5	56 36	44 0.818	30 2	15	0 0	22
8 N.Greenwood	M 28 0	14 - 0	27 0 0	1 0	0	0 0	0 0 0 0 0 2 0 0	2 0 0 0	9 12 1 0	16 4	0 0 0	0 0	18	5 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	28	74 0.378	42 88 0.4	77 29	74 0.392	54 1	54	0 0	14
8 T.Kimmeth	M 4 0	2 - 0	5 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	1 1 0 0	5 1	0 0 0	0 0	3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	5	13 0.385	7 15 0.4	67 5	13 0.385	8 0	8+	0 0	4
8 J.Ragusa	M 9 0	0 - 0	9 0 0	5 0	1	1 0	0 0 0 0 0 0 0 0	0 0 0 0	2 0 1 0	8 1	0 0 0	0 0	4	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	16	28 0.571	16 28 0.5	71 26	28 0.929	15 0	15+	0 0	9
9 G.Daley	M 7 0	0 - 0	6 0 0	3 0	2	0 0	0 0 0 0 0 0 0 0	0 0 0 0	2 2 0 0	6 0	0 0 0	0 0	1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	11	21 0.524	11 21 0.5	24 18	21 0.857	13 0	13+	0 0	6
9 T.Menefee	M 44 0	2 - 0	62 0 0	10 0	6	12 0	0 0 0 0 0 0 0 1	0 0 0 0	9 4 0 0	42 4	0 0 0	0 0	19	0 0 0	0 0 0	0 0	0 7 7	0 0 0	0 0 0 0	90	150 0.600	92 152 0.6	05 148	150 0.987	84 7	12	0 0	62
9 T.Rice	M 11 0	6 - 0	15 0 0	1 0	0	0 0	0 0 0 0 0 1 0 0	0 0 0 0	5 5 0 0	4 1	0 0 0	0 0	3	2 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	16	32 0.500	22 38 0.5	79 17	32 0.531	27 0	27+	0 0	11
10 B.Bryant	M 24 0	1 - 0	23 0 0	9 0	1	0 0	0 0 0 0 0 0 0 0	0 0 0 0	3 4 2 0	24 0	0 0 0	0 0	12	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	33	66 0.500	34 67 0.5	07 44	66 0.667	38 1	38	0 0	18
10 S.Fulmer	M 12 0	0 - 0	11 0 0	4 0	3	0 0	0 0 0 2 0 0 1 0	0 0 0 0	2 0 0 0	16 2	0 0 0	0 0	9	3 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	18	41 0.439	18 41 0.4	39 28	41 0.683	18 0	18+	0 0	13
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	I 2* 2G	R 3	HR HY	KB KD KE KF KI KL KO KP	KS KU IOPOE	GO FC DP TP	FO LO	AKO TKO TKZ	TK3 UO	/ I	PR BB X2	S2 S3 SI	H C2 C3	сн воов О	HB TB IO	BEj In Su X	Hits	AB BA	OB PA OB	P TB	AB Slug	тов О	TOB/O	SB SA	RB
	Games	Walks	Singles	Doubles	5 Trpl	s Homers	At the Plate		On the Ground		In the Air	Othe	ner	On	Over		Out		Exits	Batti	ng Avg.	On Base %	Sh	ugging %				
▲ Name of Player			Gettin	g On					Getting Out							Running Bas	ses		Getting Gone				Avera	ges				1
Players shown in bold, co Players shown in colored	I font are currently ▲ Games Play GB = Game B BN = Game N	r Subs on one or mo ed atted lot Batted ▲ Walks	re teams. ▲ Singles 1* = only straight Sir 1DB = Dead Ball Si 1CI - Catcher Interf	ngle		Homers HR = Homer In HY = Homer (Over the Fence (Yard) KF = Strikeout - Bal KF = Strikeout - Fo KI = Strikeout - Ille KL = Strikeout - L	f Batter's Box y of Game er Elsewhere Is al Bat oking		FO = Fly Out LO = Line Out AKO = Auton TKO = Strike TK2 = Doub	t	r Fence	nknown (ng Ending PF Bl	Out g Out Getting On R = Pinch Ran B = Base Burgle	S3 = Stole 3B SH = Stole Hor	C2 = Caught S C3 = Caught ne CH = Caugh BOOB = Ba Θ = BOOBs HB = Hit by	Stealing Second Stealing Third t Stealing Home serunner Out On Ba s+C2+C3+CH y batted Ball		▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	Hits = 1+2 AB = At E Hits	2+3+H C BAt s+Outs F tting Average	How Often You Get C B = On Base W+1+2+3+H PA = Plate Appearance Walks+Hits+Outs OBP = On Base %age	TB = To 1+(2x2 AB = At Hi	tal Bases 2)+(3x3)+(Hx4) BAt ts+Outs	TOB = Time O	On Base FC+PR+BB+ C2+C3+CH ▲ H SB = 5	+X2	ase
		W* = only straight \ AW = Assisted Wa IW - Intentional W	alk (Coed)	2* = only stra 2GR = Grou	aight Doub nd Rule D	ble)ouble	IOP = Intentior	tepped on Plate					X	K2 = Extra Inning	g Kunner on 2B	TB = Touc IOB = Inte	hed by Base coach entional Out on Bas	9								SA =	= Steal Ave SB / (SB+C Drive In ▲	erage C2+C

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Getti	ng On			Getting Out				Running Ba	ses	Getting Gone			Averages			
	Games	Walks	Singles	Doubles 1	rpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out	Exits	Batting Avg.	On Base %	Slugging %			. <u></u>
Player Name	GB GN	W* AW IV	V 1* 1DB 1C	CI 2* 2GR	3 HR HY	KB KD KE KF KI KL KO KP KS KU IOPOE	GO FC DP TP	FO LO AKO TKO TK2 TK3	uo j	PR BB X2	S2 S3 SH C2 C3	сн воов \varTheta нв тв і	OB Ej In Su X	Hits AB BA	OB PA OBP	TB AB Slug	тов \varTheta тов/0	SB SA	RB
10 N.Mapp	M 52 0	20 - 0	73 0 0) 22 0	1 2 0	0 0 0 0 0 1 0 0 2 0 0 0	15 9 0 0	30 9 0 0 0 0	0 17	0 0 0	0 0 0 0 0	0 4 4 0 0	0 0 0 0	98 164 0.59	98 118 184 0.64	128 164 0.780	125 4 31.25	0 0	63
11 T.Kenyon	M 8 0	0 - 0	8 0 0) 3 0	1 1 0	0 0 0 0 0 0 0 0 0 0 0 0	2 1 0 0	9 0 0 0 0 0	03	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	13 25 0.52	20 13 25 0.52	21 25 0.840	13 1 13	0 0	11
12 C.Cummins	M 18 0	2 - 0	25 0 0	9 0	3 1 0	0 0 0 0 0 0 0 0 0 0 0 0	5 4 0 0	8 2 0 0 0 0	06	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	38 57 0.66	67 40 59 0.67	56 57 0.982	43 1 43	0 0	30
13 R.McCoy	M 302 1	41 - 0	339 1 1	93 0	29 8 0	0 0 0 11 0 3 1 0 6 0 0 0	120 68 12 0	201 37 0 0 0 0	0 178	1 0 0	0 0 0 0	0 30 30 0 0	0 0 1 0 1	471 930 0.50	06 512 971 0.52	646 930 0.695	572 30 19.07	0 0	327
14 J.Sumner	M 92 1	31 - 0	78 0 0) 35 0	20 4 0	0 0 0 2 0 1 0 1 0 0 0 0	28 14 2 0	80 7 0 0 0 0	0 45	0 0 0	0 0 0 0 0	0 7 7 1 0	0 0 0 0	137 272 0.50	04 168 303 0.55	224 272 0.824	178 7 25.43	0 0	114
15 Me.Epps	M 15 0	1 - 0	9 0 0	0 12 0	3 2 0	0 0 0 0 0 0 0 0 0 0 0 0	1 1 0 0	21 1 0 0 0 0	09	0 0 0	0 0 0 0 0	0 0 0 0 0	0 0 0 0	26 50 0.52	20 27 51 0.52	50 50 1.000	26 0 26+	0 0	19
15 D.Fisher	M 12 0	4 - 0	19 0 0	0 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	3 3 0 0	9 2 0 0 0 0	02	0 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0	19 36 0.52	28 23 40 0.57	19 36 0.528	26 0 26+	0 0	10
17 S.Tate	M 8 0	0 - 0	6 0 0) 4 0	0 1 0	0 0 0 0 0 0 0 0 0 0 0 0 0	0 1 0 0	10 0 0 0 0	03	0 0 0	0 0 0 0 0	0 2 2 0 0	0 0 0 0	11 22 0.50	00 11 22 0.50	18 22 0.818	11 2 5.5	0 0	7
17 J.Teeter	M 54 0	4 - 0	76 0 0) 18 0	10 2 0	0 0 0 0 0 1 0 0 0 0 0	26 10 0 0	16 5 0 0 0 0	0 23	0 0 0	0 0 0 0 0	0 8 8 0 0	0 0 0 0	106 164 0.64	16 110 168 0.65	150 164 0.915	118 8 14.75	0 0	56
19 J.Woliver	M 6 0	0 - 0	6 0 0) 3 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0	6 0 1 0	1 1 0 0 0 0	02	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	10 19 0.52	26 10 19 0.52	15 19 0.789	10 1 10	0 0	7
20 G.Chaney	M 51 0	4 - 0	53 0 0) 21 0	9 2 0	0 0 0 0 0 0 0 0 0 0 0 0 0	18 12 1 0	31 4 0 0 0 0	0 22	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	85 151 0.56	63 89 155 0.57	130 151 0.861	99 1 99	0 0	55
20 J.Tyler	M 30 0	8 - 1	31 0 0) 10 0	2 0 0	0 0 0 1 0 1 0 1 0 1 0	3 8 1 0	28 4 0 0 0 0	0 14	13 0 0	0 0 0 0	0 1 1 0 0	0 0 0 0	43 90 0.47	78 52 99 0.52	57 90 0.633	60 1 60	0 0	31
21 B.Baber	M 12 0	3 - 0	17 0 0) 1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	4 6 0 0	5 0 0 0 0 0	05	0 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0	18 33 0.54	15 21 36 0.58	3 19 33 0.576	27 0 27+	0 0	6
22 M.Smith	M 118 0	24 - 0	118 0 0) 37 0	6 12 0	0 0 0 2 0 3 0 0 6 0 0	53 19 0 0	80 14 0 0 0 0	0 48	0 0 0	0 0 0 0 0	0 15 15 0 0	0 0 2 0 0	173 350 0.49	94 197 374 0.52	258 350 0.737	204 15 13.6	0 0	110
23 Ja.Bennett	M 16 0	0 - 0	18 0 0) 7 0	3 4 0	0 0 0 0 0 0 0 0 0 0 0 0 0	6 4 1 0	10 1 0 0 0 0	0 10	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	32 54 0.59	93 32 54 0.59	57 54 1.056	32 1 32	0 0	26
23 Rn.Crider	M 8 0	0 - 0	7 0 0) 1 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	2 0 1 0	10 0 0 0 0	05	0 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0	8 21 0.38	31 8 21 0.38	9 21 0.429	8 0 8+	0 0	3
23 J.Prignoli	M 9 0	2 - 0	10 0 0) 2 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	2 3 0 0	6 2 0 0 0 0	03	4 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0	13 26 0.50	00 15 28 0.53	17 26 0.654	18 0 18+	0 0	10
24 M.Stocks	M 3 0	0 - 0	3 0 0) 2 0	0 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	2 0 0 0	3 0 0 0 0 0	02	0 0 0	0 0 0 0 0	0 0 0 0	0 0 1 0 0	5 10 0.50	00 5 10 0.50	7 10 0.700	5 0 5+	0 0	4
25 D.Josselson	M 16 0	1 - 0	16 0 0) 2 0	0 0 0	1 0 0 0 0 0 0 0 0 0 0 0	6 2 2 0	11 4 0 0 0 0	09	0 0 0	0 0 0 0 0	0 2 2 0 0	0 0 0 0	18 44 0.40	09 19 45 0.42	20 44 0.455	21 2 10.5	0 0	10
26 A.Dale	M 49 0	11 - 0	37 0 0) 14 0	4 4 0	0 0 0 1 0 0 0 0 0 0 0 0	14 5 1 0	52 4 0 0 0 0	0 27	0 0 0	0 0 0 0 0	0 2 2 0 0	0 0 0 0	59 136 0.43	34 70 147 0.47	93 136 0.684	71 2 35.5	0 0	39
26 R.Merritt	M 6 0	2 - 0	4 0 0	0 0	0 1 0	0 0 0 0 0 0 0 1 0 0 0	9 1 0 0	1 0 0 0 0	08	0 0 0	0 0 0 0 0	0 1 1 0 0	0 0 0 0	5 17 0.29	94 7 19 0.36	8 17 0.471	7 1 7	0 0	9
27 J.Byrnes	M 133 0	37 - 0	175 0 0) 65 0	5 1 0	0 0 0 1 0 1 0 0 0 0 0	34 22 9 0	87 18 0 0 0 0	1 54	0 0 0	0 0 0 0 0	0 11 11 0 0	0 1 0 0 0	246 419 0.58	37 283 456 0.62	324 419 0.773	304 11 27.64	0 0	117
27 D.Kim	M 12 0	0 - 0	16 0 0) 3 0	1 0 0	0 0 0 0 0 0 0 0 0 0 0 0 0	6 6 0 0	7 2 0 0 0 0	07	1 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0	20 41 0.48	38 20 41 0.48	25 41 0.610	26 0 26+	0 0	12
28 F.Crider	M 16 0	0 - 0	17 0 0) 9 0	0 0 0	0 0 0 0 0 1 0 0 0 0 0	7 1 1 0	10 0 0 0 0	08	0 0 0	0 0 0 0 0	0 3 3 0 0	0 0 0 0	26 46 0.56	65 26 46 0.56			0 0	
Player Name		W* AW IV				KB KD KE KF KI KL KO KP KS KU IOPOE						сн воов Θ нв тв і	-			TB AB Slug	тов • тов/ю	SB SA	RBJ
	Games	Walks	Singles		Trpls Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out	Exits	Batting Avg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, c Players shown in colored	d font are currentl ▲ Games Play GB = Game E	ly Subs on one or mo yed Batted	ore teams. ▲ Singles 1* = only straight Si	I I I I		KB = Strikeout - Out of Batter's Box Inside the Park KD = Strikeout - Delay of Game Over the Fence (Yard) KE = Strikeout - Batter Elsewhere	FC = Fielder's Choice DP = Double Play	FO = Fly Out LO = Line Out AKO = Automatic TKO	▲ Other Outs UO = Unknow / = Inning En	n Out ding Out	Running Ba ▲ Getting Over ▲ Getting Out S2 = Stole 2B C2 = Caught S3 = Stole 3B C3 = Caught SH = Stole Home CH = Caught	t Stealing Second I Stealing Third nt Stealing Home	Getting Gone ▲ Getting Gone Ej = Ejection In = Injury Su = Substitution	▲ How Often You Hit Hits = 1+2+3+H AB = At BAt Hits+Outs	▲ How Often You Get On OB = On Base W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt	TOB = Time On Base W+1+2+3+FC+PR+E Θ = BOOBs+C2+C3+C	B+X2	
	BN = Game I	Not Batted ▲ Walks W* = only straight \ AW = Assisted Wa IW - Intentional W	alk (Coed)	rference	Triples = Triple Double tule Double	KF = Strikeout - Fouls KI = Strikeout - Illegal Bat KL = Strikeout - Looking KO = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Swinging KI = Strikeout - Umpire's Discretion	TP = Triple Play	TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence		▲ Getting On PR = Pinch Ran BB = Base Burg X2 = Extra Innir	Θ = BOOBedHB = Hit bg Runner on 2BTB = Tou	aserunner Out On Base is+C2+C3+CH ny batted Ball ched by Base coach tentional Out on Base	X = Unknown	BA = Batting Average	Walks+Hits+Outs OBP = On Base %age	Hits+Outs Slug = Slugging %age	SI	How Often S S = Stolen Bas S2+S3+SH A = Steal Aver SB / (SB+C	se rage 2+C3+
		IW - Intentional W	/alk	2GR = Ground R	ule Double	KS = Strikeout - Swinging KU = Strikeout Umpire's Discretion IOP = Intentional Out at the Plate OE = Official Out Due to Ejection													SB / (SB+C2 Runs You Drive In ▲ RBI = Runs Batted In

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

| 128 0 19 0 4 0 13 0 202 1 9 0 29 0 4 0 7 0 70 0 10 0 11 0 | Walks IW 1% AW IW 15 - 0 1 - 0 1 - 0 0 - 0 1 - 0 0 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 1 - 0 0 - 0 0 - 0 | Singles 1* 1DB 1CI 143 0 0 18 0 0 2 0 0 12 0 0 12 0 0 10 0 0 31 0 0 33 0 0 9 0 0 24 0 0
 |

 | Homers HR HY 5 0 0 4 1 0 0 0 0 1 2 0 4 3 0 1 0 0 1 2 0 1 0 0 1 0 0 1 0 0 1 2 0 0 0 0 1 2 0 0 0 0 | KB KD KE KF KI 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | t the Plate I KO KP KS KU IOP OE 0 0 0 2 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 <
 | On FC OP TP GO FC DP TP 29 38 4 0 9 4 1 0 1 1 1 0 1 1 1 0 6 3 1 0 55 61 6 0 4 2 1 0 8 3 0 0 2 1 0 0
 | It is the Hir FO LO KO TKO 100 16 0 2 0 100 16 0 2 0 9 2 0 0 0 4 0 0 0 0 7 1 0 0 0 175 27 0 0 0 6 0 0 0 0 19 3 0 4 0 4 0 0 0 0
 | 0 0 65 0 0 12 0 0 3 0 0 4 0 0 105
 | PR BB X2 S2 S2<
 | S3 SH C2 C3 CH BOO 0 0 0 0 0 9 0 0 0 0 0 9 0 0 0 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 13 | 9 1 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 13 0 0 0
 | Exits In Su X 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | Batting AB AB BA 202 393 0.514 206 51 0.514 206 51 0.514 207 9 0.222 19 37 0.514 294 621 0.473 16 29 0.552 54 91 0.593 | 27 52 0.519 2 9 0.222 4 24 42 0.571 3 317 644 0.492 | Sluging V TB AB Slug 276 393 0.702 40 51 0.784 2 9 0.222 31 37 0.838 382 621 0.615 23 29 0.793 84 91 0.923 | 255 9 2 30 0 3 0 25 2 375 13 22 1 | 28.33 0 0 30+ 0 0 3+ 0 0 12.5 0 0
 |
|---|--
--

--
---|--|---
--

--
--
--
--
--

---|--|--
--|--|---|---|---|
| 128 0 19 0 4 0 13 0 202 1 9 0 29 0 4 0 7 0 70 0 10 0 11 0 | $\begin{array}{ccccc} 15 & - & 0 \\ 1 & - & 0 \\ 0 & - & 0 \\ 5 & - & 0 \\ 23 & - & 0 \\ 4 & - & 0 \\ \end{array}$ | $\begin{array}{c ccccc} 143 & 0 & 0 \\ 18 & 0 & 0 \\ 2 & 0 & 0 \\ 12 & 0 & 0 \\ 12 & 0 & 0 \\ 225 & 1 & 0 \\ 10 & 0 & 0 \\ 10 & 0 & 0 \\ 31 & 0 & 0 \\ 33 & 0 & 0 \\ 9 & 0 & 0 \\ 6 & 0 & 0 \end{array}$
 | 44 0 15 3 0 4 0 0 0 4 0 1 51 0 14

 | 5 0 0 4 1 0 0 0 0 1 2 0 4 3 0 1 0 0 | | 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0
 | $\begin{array}{c ccccccccccccccccccccccccccccccccccc$
 | 100 16 0 2 0 9 2 0 0 0 4 0 0 0 0 7 1 0 0 0 175 27 0 0 0
 | 0 0 65 0 0 12 0 0 3 0 0 4 0 0 105
 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
 | 0 0 0 0 0 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 13 | 9 1 0 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 13 0 0 0
 | 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 202 393 0.514 26 51 0.510 2 9 0.222 19 37 0.514 294 621 0.473 16 29 0.552 | 4 217 408 0.532 2 27 52 0.519 2 2 9 0.222 4 24 42 0.571 3 317 644 0.492 2 20 33 0.606 | 276 393 0.702 40 51 0.784 2 9 0.222 31 37 0.838 382 621 0.615 23 29 0.793 | 255 9 30 0 3 0 25 2 375 13 22 1
 | 28.33 0 30+ 0 3+ 0 12.5 0 28.85 0 |
| 19 0 4 0 13 0 202 1 9 0 29 0 4 0 7 0 70 0 10 0 11 0 11 0 | $ \begin{array}{cccccccccccccccccccccccccccccccccccc$ | $\begin{array}{c cccccc} 18 & 0 & 0 \\ 2 & 0 & 0 \\ 12 & 0 & 0 \\ 225 & 1 & 0 \\ 10 & 0 & 0 \\ \hline 10 & 0 & 0 \\ \hline 31 & 0 & 0 \\ \hline 3 & 0 & 0 \\ \hline 9 & 0 & 0 \\ \hline 6 & 0 & 0 \\ \hline \end{array}$
 | $\begin{array}{c ccccccccccccccccccccccccccccccccccc$

 | 4 1 0 0 0 0 1 2 0 4 3 0 1 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
 | 9 4 1 0 1 1 1 0 6 3 1 0 55 61 6 0 4 2 1 0
 | 9 2 0 0 0 4 0 0 0 0 7 1 0 0 0 175 27 0 0 0
 | 0 0 12 0 0 3 0 0 4 0 0 105
 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
 | 0 13 13 14 <th14< th=""> 14 <th14< th=""> <th14< th="" th<=""><th>0 0 0 0 0 0 0 0 0 2 0 0 0 0 13 0 0 0 0</th><th>0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0</th><th>26 51 0.510 2 9 0.222 19 37 0.514 294 621 0.473 16 29 0.552</th><th>27 52 0.519 2 9 0.222 4 24 42 0.571 3 317 644 0.492 2 20 33 0.606</th><th>40 51 0.784 2 9 0.222 31 37 0.838 382 621 0.615 23 29 0.793</th><th>30 0 3 0 25 2 375 13 22 1</th><th>30+ 0 3+ 0 12.5 0 28.85 0 22 0</th></th14<></th14<></th14<> | 0 0 0 0 0 0 0 0 0 2 0 0 0 0 13 0 0 0 0
 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 26 51 0.510 2 9 0.222 19 37 0.514 294 621 0.473 16 29 0.552 | 27 52 0.519 2 9 0.222 4 24 42 0.571 3 317 644 0.492 2 20 33 0.606 | 40 51 0.784 2 9 0.222 31 37 0.838 382 621 0.615 23 29 0.793 | 30 0 3 0 25 2 375 13 22 1
 | 30+ 0 3+ 0 12.5 0 28.85 0 22 0 |
| 4 0 13 0 202 1 9 0 29 0 4 0 7 0 20 0 1 0 | 4 - 0 | $\begin{array}{c ccccccccccccccccccccccccccccccccccc$
 | 0 0 0 4 0 1 51 0 14 5 0 1

 | 0 0 0 1 2 0 4 3 0 1 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
 | 4 2 1 0
 | 4 0 0 0 0 7 1 0 0 0 175 27 0 0 0
 | 0 0 3
0 0 4
0 0 105
 | 0 0 0 0 0 0 0 0 0 0 0 0
 | 0 2 0 0 0 0 13 13 13 14 <th14< th=""> <th14< th=""> <th14< th=""></th14<></th14<></th14<> | 0 0 0 0 2 0 0 0 13 0 0 0
 | 0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0 | 2 9 0.222 19 37 0.514 294 621 0.473 16 29 0.552 | 2 2 9 0.222 4 24 42 0.571 3 317 644 0.492 2 20 33 0.606 | 2 9 0.222 31 37 0.838 382 621 0.615 23 29 0.793 | 3 0 25 2 375 13 22 1
 | 3+ 0 12.5 0 28.85 0 22 0 |
| 13 0 202 1 9 0 29 0 4 0 7 0 7 0 200 0 1 0 | 4 - 0 | 225 1 0 10 0 0 31 0 0 3 0 0 9 0 0 6 0 0
 | 5 0 1

 | 0 0 0 1 2 0 4 3 0 1 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
 | 4 2 1 0
 | 7 1 0 0 0 175 27 0 0 0
 | 0 0 105
 | 0 0 0 0 0 0 0 0
 | 0 0 0 0 0 13 | 13 0 0 0
 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 294 621 0.473 16 29 0.552 | 3 317 644 0.492
2 20 33 0.606 | 382 621 0.615 23 29 0.793 | 375 13 2
22 1
 | 28.85 0 (
22 0 (|
| 202 1 9 0 29 0 4 0 7 0 7 0 200 0 1 0 | 4 - 0 | 225 1 0 10 0 0 31 0 0 3 0 0 9 0 0 6 0 0
 | 5 0 1

 | | 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0 0 0 0 0 0 0 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0
 | 4 2 1 0
 | 175 27 0 0 0
 | 0 0 105
 | 0 0 0 0
 | 0 0 0 0 0 13 | 13 0 0 0
 | 0 0 0 0
0 0 0 0 | 294 621 0.473 16 29 0.552 | 3 317 644 0.492
2 20 33 0.606 | 382 621 0.615 23 29 0.793 | 375 13 2
22 1
 | 28.85 0 (
22 0 (|
| 9 0 29 0 4 0 7 0 7 0 20 0 1 0 | 4 - 0 | 10 0 31 0 3 0 9 0 6 0
 | 5 0 1

 | | 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0
 | 4 2 1 0
 |
 |
 |
 | |
 | 0 0 0 0 | 16 29 0.552 | 2 20 33 0.606 | 23 29 0.793 | 22 1
 | 22 0 0 |
| 29 0 4 0 7 0 7 0 20 0 1 0 | 4 - 0 10 - 0 0 - 0 1 - 0 1 - 0 6 - 0 0 - 0 | 31 0 0 3 0 0 9 0 0 6 0 0
 |

 | | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0
 |
 | 6 0 0 0 19 3 0 4 0 4 0 0 0 0
 | 0 0 5
0 0 11
 | 0 0 0 0
6 0 0 0
 | 0 0 0 0 0 1
0 0 0 0 0 1 | 1 0 0 0
1 0 0 0
 | | | | |
 | |
| 4 0 7 0 7 0 20 0 1 0 | 10 - 0 0 - 0 1 - 0 1 - 0 6 - 0 0 - 0 | 3 0 9 0 6 0
 | 16 0 7 1 0 1 1 0 0 3 0 1

 | 7 0 0 1 2 0 0 0 0 1 2 0 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0
 | 8 3 0 0 2 1 0 0 2 2 0 0
 | 19 3 0 4 0 4 0 0 0 0
 | 0 0 11
 | 6 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 54 91 0.593 | 3 64 101 0.634 | 84 91 0.923 | 67 1
 | 67 0 |
| 7 0 7 0 20 0 1 0 | 0 - 0
1 - 0
1 - 0
6 - 0
0 - 0 | 3 0 0 9 0 0 6 0 0 24 0 0
 | 1 0 1 1 0 0 3 0 1

 | 1 2 0
0 0 0 | 0 0 0 0 0
0 0 0 0 0 | 0 0 0 0 0 0 0 0 0 0 0 1 0 0
 | 2 1 0 0
 | 4 0 0 0 0
 | 0 0 2
 |
 | |
 | | | | |
 | |
| 20 0
1 0 | 1 - 0 1 - 0 6 - 0 0 - 0 | 9 0 0 6 0 0 24 0 0
 | 1 0 0
3 0 1

 | | 0 0 0 0 0 | 0 0 0 1 0 0 0
 | 2 2 0 0
 |
 | 0 0 2
 | 0 0 0 0
 | 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 7 14 0.500 | 0 7 14 0.500 | 16 14 1.143 | 6 0
 | 6+ 0 (|
| 20 0
1 0 | 1 - 0 6 - 0 0 - 0 | 6 0 0 24 0 0
 | 3 0 1

 | 1 2 0 | | 1
 | 2 3 0 0
 | 5 1 0 0 0
 | 0 0 7
 | 1 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 10 22 0.455 | 5 11 23 0.478 | 11 22 0.500 | 14 1
 | 14 0 0 |
| 1 0 | 6 - 0
0 - 0 | 24 0 0
 |

 | · _ Z _ U | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 1 1 0 0
 | 9 0 0 0 0
 | 0 0 2
 | 0 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 12 23 0.522 | 2 13 24 0.542 | 23 23 1.000 | 12 1
 | 12 0 |
| 1 1 0
1 173 0 | 0 - 0 |
 | 4 0 1

 | 1 0 0 | 0 0 0 0 0 | 0 1 1 0 0 0 0 0
 | 4 4 1 0
 | 20 1 0 0 0
 | 0 0 10
 | 0 0 0 0
 | 0 0 0 0 0 2 | 2 0 0 0
 | 0 0 0 0 | 29 61 0.475 | 5 35 67 0.522 | 35 61 0.574 | 39 2
 | 19.5 0 (|
| 173 0 | | 1 0 0
 | 0 0 0

 | 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 0 0 0 0
 | 0 0 0 0
 | 0 0 0
 | 0 0 0 0
 | 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 1 1 1.000 | 0 1 1 1.000 | 1 1 1.000 | 1 0
 | 1+ 0 (|
| | 23 - 0 | 207 0 0
 | 60 1 30

 | 0 11 0 | 0 0 0 1 0 | 0 1 0 0 1 0 0 0
 | 46 37 4 0
 | 138 17 0 0 0
 | 0 0 91
 | 0 0 0 0
 | 0 0 0 0 0 15 | 15 0 0 0
 | 0 0 0 0 | 309 554 0.558 | 3 332 577 0.575 | 463 554 0.836 | 358 15
 | 23.87 0 (|
| I 57 1 | 11 - 0 | 66 0 0
 | 29 0 4

 | 4 4 0 | 0 0 0 1 0 | 0 0 0 0 0 0 0
 | 17 7 2 0
 | 50 3 0 0 0
 | 0 0 23
 | 0 0 0 0
 | 0 0 0 0 0 5 | 5 0 0 0
 | 0 1 0 1 | 103 183 0.563 | 3 114 194 0.588 | 152 183 0.831 | 117 5
 | 23.4 0 0 |
| 60 | 2 - 0 | 6 0 0
 | 2 0 0

 | 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 3 0 0 0
 | 3 0 0 0 0
 | 0 0 1
 | 0 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 8 14 0.571 | 1 10 16 0.625 | 10 14 0.714 | 10 1
 | 10 0 0 |
| I 130 1 | 33 - 0 | 173 0 0
 | 11 0 1

 | 1 0 0 | 0 0 0 2 0 | 2 0 0 5 0 0 0
 | 86 53 1 0
 | 36 10 0 0 0
 | 0 0 69
 | 0 0 0 0
 | 0 0 0 0 0 7 | 7 0 0 0
 | 0 2 3 0 | 185 380 0.487 | 7 218 413 0.528 | 198 380 0.521 | 271 7
 | 38.71 0 (|
| 80 | 0 - 0 | 8 0 0
 | 3 0 6

 | 6 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 1 1 0 0
 | 7 0 0 1 0
 | 0 0 5
 | 0 0 0 0
 | 0 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 17 27 0.630 | 0 17 27 0.630 | 32 27 1.185 | 18 0
 | 18+ 0 (|
| 12 0 | 4 - 0 | 13 0 0
 | 6 0 0

 | 0 1 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 1 1 1 0
 | 16 0 0 0 0
 | 0 0 10
 | 0 0 0 0
 | 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 20 39 0.513 | 3 24 43 0.558 | 29 39 0.744 | 24 0
 | 24+ 0 0 |
| 30 | 1 - 0 | 0 0 0
 | 1 0 1

 | 1 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 0 0 0 0
 | 4 1 0 0 0
 | 0 0 0
 | 0 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 2 7 0.286 | 3 8 0.375 | 5 7 0.714 | 3 1
 | 3 0 |
| 90 | 3 - 0 | 15 0 0
 | 3 0 0

 | 0 0 | 0 0 0 0 | 0 0 0 0 0 0 0
 | 1 2 0 0
 | 7 1 0 0 0
 | 0 0 6
 | 5 0 0 0
 | 0 0 0 0 0 | 0 0 0
 | 0 0 0 0 | 18 29 0.621 | 21 32 0.656 | 21 29 0.724 | 23 0
 | 23+ 0 |
| 14 0 | 0 - 0 | 10 0 0
 | 3 0 0

 | 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 5 4 1 0
 | 14 0 0 0 0
 | 0 0 10
 | 0 0 0 0
 | 0 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 13 37 0.351 | 1 13 37 0.351 | 16 37 0.432 | 17 0
 | 17+ 0 |
| 80 | 1 - 0 | 4 0 0
 | 0 0 1

 | 1 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0
 | 2 1 1 0
 | 13 1 0 0 0
 | 0 0 6
 | 2 0 0 0
 | 0 0 0 0 0 1 | 1 0 0 0
 | 0 0 0 0 | 5 23 0.217 | 6 24 0.250 | 7 23 0.304 | 7 1
 | 7 0 0 |
| 20 0 | 10 - 0 | 24 0 0
 | 10 0 5

 | 5 0 0 | 0 0 0 0 0 | 0 1 1 1 0 0 0 0
 | 2 3 0 0
 | 14 0 0 0 0
 | 0 0 7
 | 0 0 0 0
 | 0 0 0 0 0 0 | 0 0 0 0
 | 0 0 0 0 | 39 61 0.639 | 9 49 71 0.690 | 59 61 0.967 | 52 0
 | 52+ 0 0 |
| 2 0 | 0 - 0 | 0 0 0
 | 0 0 0

 | 0 0 | 0 0 0 0 0 | 0 0 0 0 0 0 0 0
 | 1 0 1 0
 | 3 0 0 0 0
 | 0 0 0
 | 0 0 0 0
 | 0 0 0 0 0 0 | 0 0 0 0
 | 0 1 0 0 | 0 5 0.000 | 0 5 0.000 | 0 5 0.000 | 0 0
 | 0+ 0 0 |
| GB GN | |
 |

 | | |
 |
 |
 |
 |
 | |
 | - | | | - | тов От
 | OB/O SB S |
| Games | Walks | 5
 |

 | pls Homers | А | At the Plate
 |
 | In the Air
 | Other
 | On O
 | | Out
 | | Batting Avg. | | |
 | |
| ont are currently
▲ Games Play | Subs on one or more | e or more teams.
e teams.
▲ Singles
 |

 | I
▲ Homers
HR = Homer Ir | Iside the Park | 3 = Strikeout - Out of Batter's Box (
D = Strikeout - Delay of Game
 | GO = Ground Out
FC = Fielder's Choice
 | FO = Fly Out
LO = Line Out
 | UO = Unknov
 | vn Out S2 = Sto
ding Out S3 = Sto
 | le 2B C2 = Caught Stealing So
ble 3B C3 = Caught Stealing T | econd
'hird
 | Ej = Ejection
In = Injury | Hits = 1+2+3+H
AB = At BAt | ▲ How Often You Get On ▲
OB = On Base
W+1+2+3+H | How Effectively You Hit
TB = Total Bases
1+(2x2)+(3x3)+(Hx4) | TOB = Time On I
W+1+2+3+FC
 | Base
x+PR+BB+X2 |
| BN = Game N | ot Batted
▲ Walks
W* = only straight W
AW = Assisted Wal | 1DB = Dead Ball Sing
1CI - Catcher Interfer
/alk
k (Coed)
 | gle
rence

 | iples
Friple
ouble | Kon ale renee (runa)
K | KF = Strikeout - Fouls
KI = Strikeout - Illegal Bat
KL = Strikeout - Looking
KO = Strikeout - Unknown
KP = Strikeout - Stepped on Plate
KS = Strikeout - Swinging
 | DP = Double Play
TP = Triple Play
 | TKO = Strikeout - Hit Over Fence
TK2 = Double Strikeout - Hit Over F
 | ence
 | ▲ Getting On
PR = Pinch Ran
BB = Base Burgled
 | BOOB = Baserunner (
0 = BOOBs+C2+C3+
HB = Hit by batted Ba
on 2B TB = Touched by Ba | Dut On Base
CH
all
ise coach
 | Su = Substitution
X = Unknown | | Walks+Hits+Outs | Hits+Outs | ΤΟΒ/Θ
 | ▲ How Of
SB = Stolen
S2+S3+
SA = Steal
SB / (SE |
| | 57 1 6 0 130 1 8 0 12 0 3 0 9 0 14 0 8 0 20 0 2 0 GB GN Games Bares ed font are currently Games Playe GB Game Bares BN = Game No | 57 1 11 - 0 6 0 2 - 0 130 1 33 - 0 8 0 0 - 0 12 0 4 - 0 3 0 1 - 0 9 0 3 - 0 14 0 0 - 0 20 0 10 - 0 20 0 10 - 0 20 0 0 - 0 20 0 0 - 0 20 0 - 0 0 20 0 - 0 0 30 1 - 0 0 0 20 0 - 0 0 0 30 10 - 0 0 0 4 0 0 - 0 0 5 0 - 0 <td>57 1 11 - 0 66 0 0 6 0 2 - 0 66 0 0 130 1 33 - 0 173 0 0 8 0 0 - 0 8 0 0 12 0 4 - 0 13 0 0 3 0 1 - 0 0 0 0 3 0 1 - 0 10 0 0 9 0 3 - 0 15 0 0 14 0 0 - 0 10 0 0 20 0 10 - 0 24 0 0 20 0 - 0 0 0 0 0 20 0 - 0 0 0 0 0 20 0 - 0 0 0 0 0 <td>57 1 11 - 0 66 0 0 29 0 4 6 0 2 - 0 6 0 0 2 0 0 130 1 33 - 0 173 0 0 111 0 - 8 0 0 - 0 8 0 0 3 0 1 12 0 4 - 0 13 0 0 66 0 0 3 0 1 - 0 0 0 0 1 0 - 9 0 3 - 0 15 0 0 3 0 0 14 0 0 - 0 10 0</td><td>57 1 11 - 0 66 0 0 29 0 4 4 0 6 0 2 - 0 6 0 0 22 0 0 0 0 130 1 33 - 0 173 0 0 11 0 1 0 0 8 0 0 - 0 8 0 0 3 0 6 0 0 0 12 0 4 - 0 13 0 0 6 0 0 1 0 3 0 1 - 0 0 0 0 1 0 0 0 3 0 1 - 0 15 0 0 3 0 0 0 0 14 0 0 - 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0</td><td>57 1 11 - 0 66 0 29 0 4 4 0 0 0 0 1 0 6 0 2 - 0 6 0 0 2 0<!--</td--><td>57 1 11 - 0 66 0 0 29 0 4 4 0 0 0 1 0<td>57 1 11 - 0 66 0 29 0 4 4 0<td>57 1 11 0 66 0 0 29 0 4 4 0<td>57 1 11 - 0 66 0 28 0 4 4 0<td>57 1 11 0 66 0 2 0 4 4 0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0</td><td>57 1 11 0 66 0 28 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td></td></td></td></td></td> | 57 1 11 - 0 66 0 0 6 0 2 - 0 66 0 0 130 1 33 - 0 173 0 0 8 0 0 - 0 8 0 0 12 0 4 - 0 13 0 0 3 0 1 - 0 0 0 0 3 0 1 - 0 10 0 0 9 0 3 - 0 15 0 0 14 0 0 - 0 10 0 0 20 0 10 - 0 24 0 0 20 0 - 0 0 0 0 0 20 0 - 0 0 0 0 0 20 0 - 0 0 0 0 0 <td>57 1 11 - 0 66 0 0 29 0 4 6 0 2 - 0 6 0 0 2 0 0 130 1 33 - 0 173 0 0 111 0 - 8 0 0 - 0 8 0 0 3 0 1 12 0 4 - 0 13 0 0 66 0 0 3 0 1 - 0 0 0 0 1 0 - 9 0 3 - 0 15 0 0 3 0 0 14 0 0 - 0 10 0</td> <td>57 1 11 - 0 66 0 0 29 0 4 4 0 6 0 2 - 0 6 0 0 22 0 0 0 0 130 1 33 - 0 173 0 0 11 0 1 0 0 8 0 0 - 0 8 0 0 3 0 6 0 0 0 12 0 4 - 0 13 0 0 6 0 0 1 0 3 0 1 - 0 0 0 0 1 0 0 0 3 0 1 - 0 15 0 0 3 0 0 0 0 14 0 0 - 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0</td> <td>57 1 11 - 0 66 0 29 0 4 4 0 0 0 0 1 0 6 0 2 - 0 6 0 0 2 0
 0 0<!--</td--><td>57 1 11 - 0 66 0 0 29 0 4 4 0 0 0 1 0<td>57 1 11 - 0 66 0 29 0 4 4 0<td>57 1 11 0 66 0 0 29 0 4 4 0<td>57 1 11 - 0 66 0 28 0 4 4 0<td>57 1 11 0 66 0 2 0 4 4 0</td><td>57 1 11 0 66 0 28 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0
 0 0 0 0 0 0 0 0 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td></td></td></td></td> | 57 1 11 - 0 66 0 0 29 0 4 6 0 2 - 0 6 0 0 2 0 0 130 1 33 - 0 173 0 0 111 0 - 8 0 0 - 0 8 0 0 3 0 1 12 0 4 - 0 13 0 0 66 0 0 3 0 1 - 0 0 0 0 1 0 - 9 0 3 - 0 15 0 0 3 0 0 14 0 0 - 0 10 0 | 57 1 11 - 0 66 0 0 29 0 4 4 0 6 0 2 - 0 6 0 0 22 0 0 0 0 130 1 33 - 0 173 0 0 11 0 1 0 0 8 0 0 - 0 8 0 0 3 0 6 0 0 0 12 0 4 - 0 13 0 0 6 0 0 1 0 3 0 1 - 0 0 0 0 1 0 0 0 3 0 1 - 0 15 0 0 3 0 0 0 0 14 0 0 - 0 14 0 0 0 0 0 0 0 0 0 0 0 0 0 | 57 1 11 - 0 66 0 29 0 4 4 0 0 0 0 1 0 6 0 2 - 0 6 0 0 2 0 </td <td>57 1 11 - 0 66 0 0 29 0 4 4 0 0 0 1 0<td>57 1 11 - 0 66 0 29 0 4 4 0<td>57 1 11 0 66 0 0 29 0 4 4 0<td>57 1 11 - 0 66 0 28 0 4 4 0<td>57 1 11 0 66 0 2 0 4 4 0</td><td>57 1 11 0 66 0 28 0
 0 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td></td></td></td> | 57 1 11 - 0 66 0 0 29 0 4 4 0 0 0 1 0 <td>57 1 11 - 0 66 0 29 0 4 4 0<td>57 1 11 0 66 0 0 29 0 4 4 0<td>57 1 11 - 0 66 0 28 0 4 4 0
0 0 0 0 0 0 0 0 0 0<td>57 1 11 0 66 0 2 0 4 4 0</td><td>57 1 11 0 66 0 28 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td></td></td> | 57 1 11 - 0 66 0 29 0 4 4 0 <td>57 1 11 0 66 0 0 29 0 4 4 0<td>57 1 11 - 0 66 0 28 0 4 4 0
 0 0<td>57 1 11 0 66 0 2 0 4 4 0</td><td>57 1 11 0 66 0 28 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td></td> | 57 1 11 0 66 0 0 29 0 4 4 0 <td>57 1 11 - 0 66 0 28 0 4 4 0
 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0<td>57 1 11 0 66 0 2 0 4 4 0</td><td>57 1 11 0 66 0 28 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td></td> | 57 1 11 - 0 66 0 28 0 4 4 0 <td>57 1 11 0 66 0 2 0 4 4 0</td> <td>57 1 11 0 66 0 28 0
 0 0<td>57 1 1 - 6 6 0 2 0</td><td>57 1 1 - 6 0 2 0 4 4 0</td><td>57 1 1 0 6 0 2 0 4 4 0</td><td>57 1 1 0 66 0 2 0</td><td>57 11 0 6 0 2 0</td><td>Sr. I - 6 6 0 2 0</td></td> | 57 1 11 0 66 0 2 0 4 4 0 | 57 1 11 0 66 0 28 0 <td>57 1 1 - 6 6 0 2 0
 0 0</td> <td>57 1 1 - 6 0 2 0 4 4 0</td> <td>57 1 1 0 6 0 2 0 4 4 0</td> <td>57 1 1 0 66 0 2 0</td> <td>57 11 0 6 0 2 0</td> <td>Sr. I - 6 6 0 2 0</td> | 57 1 1 - 6 6 0 2 0 | 57 1 1 - 6 0 2 0 4 4 0 | 57 1 1 0 6 0 2 0 4 4 0 | 57 1 1 0 66 0 2 0 | 57 11 0 6 0 2 0
 0 0 | Sr. I - 6 6 0 2 0 |

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Getting	g On						Getting (Dut							Running H	Bases		Getting Go	ne			A	verages				
	Games	Walks	Singles	Doubles	Trpls	Homers		At the Plate		On the G	Fround	Ι	n the Air	Ot	ther	On	Over		Out		Exits	Ba	atting Avg.	On l	Base %	Sluggin	ıg %			Т
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2GR	R 3	HR HY	KB KD KE KF	KI KL KO KI	P KS KU IOPOE	GO FC	DP TP	FO LO A	ако тко т	K2 TK3 UO	/ P	PR BB X2	S2 S3 S	н С2 С3	CH BOOB	Энвтві	OB Ej In Su	X Hit	ts AB BA	OB	PA OBP	TB AI	B Slug	тов Θ 7	TOB/O SB S	A
B E.Ramirez	M 17 0	2 - 0	15 0 0	2 0	0	0 0	0 0 0 0	0 5 0 0	2 0 0 0	7 0	0 0	15 0	0 0	0 0 0	9 (0 0 0	0 0 0	0 0 0	0 1	1 0 0	0 0 0 0	0 17	46 0.370) 19	48 0.396	19 46	6 0.413	19 1	19 0	0
J.Kontrafouris	M 7 0	0 - 0	6 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	3 3	0 0	7 0	0 0	0 0 0	5	0 0 0	0 0 0	0 0 0	0 1	100	0 0 0 0	0 6	19 0.316	6	19 0.316	6 19	9 0.316	9 1	9 0	0
M.Matsko	M 2 0	0 - 0	1 0 0	1 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1	0 0	2 1	0 0	0 0 0	0	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 2	6 0.333	3 2	6 0.333	3 6	6 0.500	3 0	3+ 0	0
D.Millette	M 1 0	0 - 0	0 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	2 0	0 0	0 0 0	1 (0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 1	3 0.333	3 1	3 0.333	3 3	3 1.000	1 0	1+ 0	0
S.Bitner	M 11 0	2 - 0	18 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	3 4	0 0	9 0	0 0	0 0 0	3	0 0 0	0 0 0	0 0	0 1	1 0 0	0 0 0 0	0 18	34 0.529	20	36 0.556	18 34	4 0.529	24 1	24 0	0
G.Benusa	M 10 0	0 - 0	9 0 0	3 0	3	1 0	0 0 0 0	0 0 0 0	0 0 0 0	4 3	0 0	9 0	0 0	0 0 0	8	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 16	32 0.500	16	32 0.500	28 32	2 0.875	18 0	18+ 0	0
G.Brooke	M 168 1	59 - 0	163 1 0	47 0	15	8 0	0 0 0 2	0 3 0 0	1 0 0 0	28 26	8 0	176 13	0 0	0 0 0	76	1 0 0	0 0 0	0 0	0 13	3 0 0	0 0 1 1	0 234	491 0.477	293	550 0.533	335 49	1 0.682	311 13	23.92 0	0
K.James	M 9 0	5 - 0	17 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	1 1	0 0	61	0 0	0 0	3	2 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0	0 19	28 0.679	24	33 0.727	22 28	8 0.786	25 0	25+ 0	0
A.Aleweidat	M 3 0	1 - 0	6 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	2 0	00	2 0	0 0	0 0	1	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0	0 6	10 0.600	7	11 0.636	6 10) 0.600	70	7+ 0	0
F.Allen	M 1 0	0 - 0	3 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	0 0	0 0	0 0 0 0	0 3	3 1.000) 3	3 1.000	3 3	1.000	3 0	3+ 0	0
Ti.Alvis	M 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	1 0	0 0	0 0 0	1 (0 0 0	0 0 0	0 0	0 0	0 0	0 0 0 0	0 1	2 0.500) 1	2 0.500	1 2	2 0.500	1 0	1+ 0	0
Tr.Alvis	M 1 0	0 - 0	0 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	1 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	0 0	0 0	0 0 0 0	0 1	2 0.500) 1	2 0.500	3 2	2 1.500	1 0	1+ 0	0
S.Anderson	M 1 0	0 - 0	0 0 0	2 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	1 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	0 0	0 0	0 0 0 0	0 2	3 0.667	2	3 0.667	4 3	3 1.333	2 0	2+ 0	0
J.Arey	M 1 0	1 - 0	1 0 0	0 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	0 1	1 0 0	0 0 0 0	0 2	2 1.000) 3	3 1.000	4 2	2 2.000	3 1	3 0	0
B.Barrett	M 18 0	3 - 0	31 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	4 1	0 0	12 1	0 0	0 0 0	6	0 0 0	0 0 0	0 0	0 1	1 0 0	0 0 0 0	0 33	51 0.647	7 36	54 0.667	36 51	1 0.706	37 1	37 0	0
K.Bogdal	M 1 0	0 - 0	1 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	1 0	0 0	0 0 0	0	1 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 3	4 0.750	3	4 0.750	6 4	1.500	3 0	3+ 0	0
S.Bowman	M 3 0	0 - 0	4 0 0	1 0	0	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	3 0	0 0	0 0	3	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 5	8 0.625	5 5	8 0.625	6 8	0.750	5 0	5+ 0	0
R.Burks	M 11 0	5 - 0	7 0 0	6 0	4	2 0	0 0 0 0	0 0 0 1	0 0 0 0	1 1	0 0	8 2	0 1	0 0 0	4	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 19	33 0.576	6 24	38 0.632	39 33	3 1.182	23 0	23+ 0	0
J.Carper	M 2 0	1 - 0	1 0 0	2 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0	2 0	0 0	0 0 0	1 (0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 4	6 0.667	7 5	7 0.714	8 6	1.333	5 0	5+ 0	0
L.Civelli	M 3 0	0 - 0	5 0 0	0 0	2	0 0	0 0 0 0	0 0 0 0	0 0 0 0	0 1	00	1 1	0 0	000	1 (0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 1 0	0 7	10 0.700	7	10 0.700	11 10) 1.100	8 0	8+ 0	0
P.Clayton	M 3 0	0 - 0	1 0 0	1 0	0	0 0	0 0 0 1	0 0 0 0	0 0 0 0	0 2	0 0	4 1	0 0	0 0	-	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0 0 0	0 2	10 0.200	2	10 0.200	3 10	0 0.300	4 0	4+ 0	0
K.Clemens	M 1 0	0 - 0	0 0 0	1 0	1	0 0	0 0 0 0	0 0 0 0	0 0 0 0	-	0 0	1 0	0 0	0 0 0	1 (0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0 0	0 2	4 0.500) 2	4 0.500	5 4	1 1.250	2 0	2+ 0	0
S.Clemens	M 1 0	0 - 0	1 0 0	0 0	1	0 0	0 0 0 0						0 0	0 0 0							0 0 0 0				3 0.667			2 1	2 0	0
B.Connor	M 1 0	0 - 0	1 0 0	0 0	0	-	0 0 0 0	1	1			0 0			_						0 0 0 0		2 0.500) 1	2 0.500					
Player Name		W* AW IW					KB KD KE KF		P KS KU IOPOE									Н С2 С3			OB Ej In Su		ts AB BA		_		Ŭ	тов О т	TOB/O SB S	A
	Games	Walks	Singles		Trpls	s Homers		At the Plate		On the O		I	n the Air	Ot	ther	On	Over		Out		Exits		atting Avg.	On	Base %	Sluggin	<u>.g</u> %			_
Name of Player Players shown in bold, co Players shown in colored	I font are current Games Pla	ly Subs on one or mor yed	e teams. ▲ Singles	 	1	Homers	▲	Outs at the Plate KB = Strikeout - Ou KD = Strikeout - De KE = Strikeout - B	it of Batter's Box elay of Game	Getting C ▲ Outs on the GO = Ground FC = Fielder's DP = Double	Ground ▲ Out F s Choice L	Outs in the Air O = Fly Out O = Line Out AKO = Automat			er Outs Unknown O hing Ending	Dut 9 Out	▲ Getting Over S2 = Stole 2B S3 = Stole 3B	C2 = Caug C3 = Caug		1	Getting Gone ▲ Getting Gone Ej = Ejection In = Injury Su = Substitutio	▲ Hov Hits = AB =	At BAt	OB = On Ba W+1-	n You Get On ▲ ase T	B = Total Bas 1+(2x2)+(3x3	ses T 3)+(Hx4)	▲ How Often Ou TOB = Time On W+1+2+3+F0 Θ = BOOBs+C2	Base C+PR+BB+X2	
	GB = Game E BN = Game	Mot Batted ▲ Walks W* = only straight W AW = Assisted Wal IW - Intentional Wa	k (Coed)	gle	▲ Triple 3 = Trip ght Doubl	es ble	Over the Fence (Yard)	KF = Strikeout - F KI = Strikeout - II KL = Strikeout - KO = Strikeout KP = Strikeout KS = Strikeout	ouls legal Bat Looking - Unknown - Stepped on Plate t - Swinging	TP = Triple F	Play	TKO = Strikeou TK2 = Double	it - Hit Over Fen Strikeout - Hit O Strikeout - Hit Ov	ver Fence	PR BE	Getting On 8 = Pinch Ran 3 = Base Burgl 2 = Extra Innin		BOOB = Θ = BOC HB = Hi TB = To	Baserunner Out C DBs+C2+C3+CH t by batted Ball buched by Base c Intentional Out on	n Base bach	X = Unknown		= Batting Average	Walk	(s+Hits+Outs Base %age	Hits+Out	its .	TOB/O	▲ How O SB = Stoler S2+S3+ SA = Steal SB / (S	n E +Sl
								KU = Strikeou IOP = Intentio	t Umpire's Discretion onal Out at the Plate I Out Due to Ejection																				Runs You Drive I RBI = Runs Batte	

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Gettin	ng On				Getting Out]	Running Bas	ses		Getting Gone			A	verages			
	Games	Walks	Singles	Doubles Tr	pls Homers		At the Plate	On the Ground	In th	e Air	Other	On	Over		Out		Exits	Batting A	vg.	On Base %	Slugging %			
Player Name	GB GN	W* AW I	W 1* 1DB 1C	I 2* 2GR 3	3 HR HY	KB KD KE KF	KI KL KO KP KS KU IO	POE GO FC DP TP	FO LO AKO	тко тк2 тк3	uo /	PR BB X2	S2 S3 SH	H C2 C3 (сн воов О	HB TB IO	B Ej In Su X	Hits AB	BA	OB PA OBP	TB AB Slug	тов е	TOB/O SB	SA RB
D.Covault	M 1 0	0 - () 3 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 1 0 0 0	0 0 0	0 0 0	01	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 4	0.750	3 4 0.750	3 4 0.75	0 3 0	3+ 0	0 1
J.Culligan	M 2 0	3 - (0 4 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0	0 1 0 0 0	0 0 0	0 0 0	00	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	4 5	0.800	7 8 0.875	4 5 0.80	070	7+ 0	0 1
G.Cummings	M 1 0	0 - 0	0 2 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	00	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 2	1.000	2 2 1.000	2 2 1.000	0 2 0	2+ 0	0 2
Ch.Davidson	M 22 0	4 - () 17 0 0	5 1	6 0 0	0 0 0 0	0 0 0 0 0 0 0	0 6 4 0 0	24 1 0	0 0 0	07	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 1 0	29 64	0.453	33 68 0.485	47 64 0.734	4 37 2	18.5 0	0 29
C.Dawson	M 2 0	0 - 0	0 0 0	1 0	1 0 0	0 0 0 0	0 0 0 0 0 0 0	0 2 0 0 0	3 0 0	0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 7	0.286	2 7 0.286	5 7 0.714	4 2 C	2+ 0	0 3
D.Delany	M 1 0	0 - 0) 2 0 0	0 0	1 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 3	1.000	3 3 1.000	5 3 1.66	7 3 0	3+ 0	0 4
R.Dziezic	M 17 0	1 - () 21 0 0	4 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 6 5 0 0	11 2 0	0 0 0	06	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 1 0 0	25 49	0.510	26 50 0.520	29 49 0.592	2 31 2	15.5 0	0 12
A.Edwards	M 1 0	0 - 0	0 2 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 2	1.000	2 2 1.000	2 2 1.000	020	2+ 0	0 0
K.Edwards	M 1 0	0 - 0) 1 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 1 0 0	1 0 0	0 0 0	01	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 3	0.333	1 3 0.333	1 3 0.333	320	2+ 0	0 0
D.English	M 1 0	0 - 0	0 0 0	2 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 2	1.000	2 2 1.000	4 2 2.000	0 2 0	2+ 0	0 0
Mi.Epps	M 2 0	0 - 0	0 2 0 0	0 0	2 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 1 0 0	1 1 0	0 0 0	02	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	4 7	0.571	4 7 0.571	8 7 1.143	351	5 0	0 5
W.Filer	M 1 0	0 - 0	0 1 0 0	0 0	1 1 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 3	1.000	3 3 1.000	8 3 2.66	720	0 2+ 0	0 3
V.Fisher	M 2 0	1 - () 2 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 3 0 0 0	0 0 0	0 0 0	01	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 5	0.400	3 6 0.500	2 5 0.400	030	3+ 0	0 1
T.Flesh	M 1 0	0 - () 1 0 0	1 0	0 1 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 3	1.000	3 3 1.000	7 3 2.33	320	2+ 0	0 3
C.Fletcher	M 9 0	1 - () 10 0 0	70	3 0 0	0 0 0 0	0 0 0 0 0 0 0	0 1 3 0 0	6 1 0	0 0 0	02	500	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	20 31	0.645	21 32 0.656	33 31 1.06	5 24 0	24+ 0	0 18
T.Foss	M 32 0	3 - () 31 0 0	6 0	4 1 0	0 0 0 1	0 2 0 0 0 0 0	0 12 8 5 0	15 4 0	0 0 0	0 18	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	42 89	0.472	45 92 0.489	59 89 0.663	3 52 1	52 0	0 28
T.Frier,Jr.	M 12 0	2 - () 14 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 5 3 0 0	8 3 0	0 0 0	17	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	14 34	0.412	16 36 0.444	14 34 0.412	2 19 1	19 0	0 11
J.Gallina	M 7 0	0 - () 7 0 0	6 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 2 0 0	3 0 0	0 0 0	0 1	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	13 18	0.722	13 18 0.722	19 18 1.056	6 15 1	15 0	0 7
J.Gravitt	M 1 0	0 - () 2 0 0	0 0	1 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 3	1.000	3 3 1.000	5 3 1.66	730	3+ 0	0 4
M.Griffin	M 2 0	0 - 0	0 0 0	1 0	1 0 0	0 0 0 0	0 0 0 0 0 0 0	0 1 3 0 0	1 0 0	0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 7	0.286	2 7 0.286	5 7 0.714	45 C	5+ 0	0 4
B.Guenthner	M 1 0	0 - 0) 1 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 0 0 0 0	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 2	0.500	1 2 0.500	1 2 0.500	0 1 0	0 1+ 0	0 1
D.Hamner	M 12 0	1 - () 13 0 0	3 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 3 1 0 0	11 3 0	0 0 0	03	0 0 0	0 0 0	0 0	0 2 2	0 0 0	0 0 0 0	16 34	0.471	17 35 0.486	19 34 0.559	9 18 2	9 0	0 10
J.Hardee	M 2 0	0 - () 1 0 0	1 0	0 0 0	0 0 0 0	0 0 0 0 0 0 0	0 1 2 0 0	2 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 7	0.286	2 7 0.286	3 7 0.429	94 C	0 4+ 0	0 1
J.Henderson	M 1 0	0 - 0	0 1 0 0	0 0	0 0 0	0 0 0 0	0 0 0 0 1 0 0	0 1 0 0 0	0 0 0	0 0 0	01	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 3	0.333	1 3 0.333	1 3 0.333	310	0 1+ 0	0 0
Player Name	GB GN	W* AW I	W 1* 1DB 1C				KI KL KO KP KS KU IO	POE GO FC DP TP	FO LO AKO	тко тк2 тк3	uo /	PR BB X2	S2 S3 SH	H C2 C3 (сн воов О	HB TB IO	B Ej In Su X	Hits AB	BA		TB AB Slug	тов е) TOB/ Θ SB	SA RB
	Games	Walks	Singles		pls Homers		At the Plate	On the Ground	In th	e Air	Other	On	Over		Out		Exits	Batting A	vg.	On Base %	Slugging %			
▲ Name of Player Players shown in bold, co	l colored font are cu	urrently Regulars on	Gettin one or more teams.	ig On			Outs at the Plate	Getting Out ▲ Outs on the Ground	▲ Outs in the Air		▲ Other Outs		☐] ▲ Getting Over	Running Bas			Getting Gone ▲ Getting Gone		u Hit ▲	A How Often You Get On ▲	v erages How Effectively You H	it A How Offer	Out on Rase	
Players shown in colored	d font are current	y Subs on one or mo	ore teams.		Homers	-	KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game	GO = Ground Out	FO = Fly Out LO = Line Out		UO = Unknow / = Inning End	n Out	S2 = Stole 2B S3 = Stole 3B	C2 = Caught S	Stealing Second		Ej = Ejection	Hits = $1+2+3+H$ AB = At BAt	0	B = On Base T	= Total Bases +(2x2)+(3x3)+(Hx4)	TOB = Time		
	▲ Games Pla GB = Game E	Batted	▲ Singles 1* = only straight Sin	igle i	HR = Homer Ir HY = Homer (iside the Park Over the Fence (Yard)		DP = Double Play TP = Triple Play	AKO = Automatic Tk TKO = Strikeout - H	0		▲ Getting On	SH = Stole Hon	ne CH = Caught	t Stealing Home serunner Out On B	200	In = Injury Su = Substitution	AB – ALBAL Hits+Outs BA = Batting A	s F	PA = Plate Appearance A Walks+Hits+Outs	= At BAt Hits+Outs	$\Theta = BOOBs$ TOB/ Θ	+C2+C3+CH	
	BN = Game	Not Batted ▲ Walks	1DB = Dead Ball Sir 1CI - Catcher Interf				KI = Strikeout - Illegal Bat	TP - Thple Play	TK2 = Double Strik	eout - Hit Over Fence		PR = Pinch Ran	ad	Θ = BOOBs	+C2+C3+CH	ase	X = Unknown	BA = Batting P	werage	OBP = On Base %age	lug = Slugging %age	I OR/O	▲ How SB = Sto	v Often Safe S olen Base
		W* = only straight	Walk	A Doubles 2* = only straight Do	Triple ouble		KL = Strikeout - Looking KO = Strikeout - Unknown		TK3 = Triple Strike	out - Hit Over Fence		BB = Base Burgle X2 = Extra Inning	eu g Runner on 2B	TB = Touc	/ batted Ball hed by Base coach	1							S2+S	S3+SH eal Average
		AW = Assisted W IW - Intentional V		2GR = Ground Rule	e Double		KP = Strikeout - Stepped on Pl KS = Strikeout - Swinging							IOB = Inte	entional Out on Bas	e							SB /	/ (SB+C2+C3+
							KU = Strikeout Umpire's Disc IOP = Intentional Out at the F	late															Runs You Drive RBI = Runs Ba	
							OE = Official Out Due to Eje																רוטא – ועא	

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Gettir	g On					Getting Out						Running Bas	es		Getting Gone				Averages			
	Games	Walks	Singles	Doubles	Trpls	Homers	At the Plate		On the Ground		In the Air	Other	On	Over		Out		Exits	Batting Avg	. (On Base %	Slugging %			
Player Name	GB GN	W* AW I	W 1* 1DB 1C	I 2* 2GH	R 3	HR HY	KB KD KE KF KI KL KO K	P KS KU IOPOE	GO FC DP T	P FO LO	AKO TKO TK2 TK	3 UO /	PR BB X2	2 S2 S3 SH	Н С2 С3 (сн воов О	HB TB IO	B Ej In Su X	Hits AB	BA OB	B PA OBP	TB AB Slug	тов О	TOB/O SB S	A R
S.Hewitt	M 1 0	0 - 0	0 1 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	0 0	0 0 0 0	0 1	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 1 0	2 3).667 2	3 0.667	3 3 1.000) 2 1	2 0	0
J.Hill	M 1 0	0 - 0	0 1 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 2).500 1	2 0.500	1 2 0.500	0 1 0	1+ 0	0
S.Hughes	M 8 0	0 - 0	0 12 0 0	0 0	1	0 0	0 0 0 0 0 0 0	0 0 0 0	2 3 0 0	4 0	0 0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	13 22).591 13	8 22 0.591	15 22 0.682	2 16 0	16+ 0	0
P.Humphries	M 1 0	0 - 0	0 1 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	2 3).667 2	3 0.667	3 3 1.000) 2 0	2+ 0	0
D.Jenks	M 1 0	0 -	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	3 0	0 0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 3	0.000 0	3 0.000	0 3 0.000	0 0	0+ 0	0
B.Jones	M 6 0	1 - (0 7 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	2 1 1 0	5 0	0 0 0 0	03	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8 17).471 9	18 0.500	9 17 0.529	0 10 0	10+ 0	0
M.Jones	M 1 0	0 -	0 1 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 2).500 1	2 0.500	1 2 0.500	0 2 0	2+ 0	0
M.Kasham	M 7 0	5 -	0 8 0 0	1 0	2	00	0 0 0 0 0 0 0	0 0 0 0	3 3 0 0	1 1	0 0 0 0	0 4	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	11 19).579 16	6 24 0.667	16 19 0.842	2 19 0	19+ 0	0
C.Keagle	M 5 0	2 -	0 6 0 0	2 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	6 1	0 0 0 0	02	1 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8 15).533 10	0 17 0.588	10 15 0.667	7 10 O	10+ 0	0
M.Kelly	M 5 0	0 - 0	0 7 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	1 0 0 0	4 2	0 0 0 0	0 3	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	8 15).533 8	15 0.533	9 15 0.600	0 8 0	8+ 0	0
G.Landerman	M 1 0	0 - 0	0 1 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 2 0 0	0 2	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 4).250 1	4 0.250	1 4 0.250	0 1 0	1+ 0	0
J.LaPorte	M 3 0	0 - 0	0 9 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	10 10	1.000 10) 10 1.000	11 10 1.100	0 10 0	10+ 0	0
C.LaRue	F 2 0	0 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	2 0 0 0	1 1	0 0 0 0	0 4	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 1 0	0 4	0.000 0	4 0.000	0 4 0.000	0 0	0+ 0	0
M.Lewandowski	M 9 0	5 - (0 11 0 0	4 0	3	0 0	0 0 0 0 0 0 0	0 0 0 0	2 1 0 0	3 0	0 2 0 0	0 2	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	18 26).692 23	3 31 0.742	28 26 1.077	24 1	24 0	0
B.Mace	M 1 0	0 - 0	0 3 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	0 0	0 1 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 4).750 3	4 0.750	3 4 0.750) 3 0	3+ 0	0
S.Mallon	M 15 0	1 - (0 12 0 0	10 0	2	0 0	0 0 0 0 0 0 0 0	0 0 0 0	5 2 0 0	8 0	0 4 0 0	0 7	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	24 43).558 25	6 44 0.568	38 43 0.884	27 1	27 0	0
Cr.Martin	M 71 0	19 - 0	0 115 0 0	21 0	13	1 0	0 0 0 0 0 0 0 0	0 0 0 0	17 7 1 0	46 11	0 0 0 0	0 27	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	150 232).647 169	9 251 0.673	200 232 0.862	2 175 1	175 0	0 9
D.Martin	M 1 0	0 -	0 2 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	2 0	0 0 0 0	0 2	0 0 0	0 0 0	0 0	0 1 1	0 0 0	0 0 0 0	2 4).500 2	4 0.500	2 4 0.500) 2 1	2 0	0
M.Mauk	M 1 0	0 -	0 1 0 0	0 0	0	00	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	1 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	1 3).333 1	3 0.333	1 3 0.333	3 2 0	2+ 0	0
J.McIntire	M 13 0	0 -	0 14 0 0	5 0	4	2 0	0 0 0 0 0 0 0 0	1 0 0 0	3 5 0 0	4 2	0 2 0 0	0 4	0 0 0	0 0 0	0 0	0 3 3	0 0 0	0 0 0 0	25 42).595 25	6 42 0.595	44 42 1.048	3 28 3	9.333 0	0 2
C.McNair	M 2 0	0 - 0	0 2 0 0	1 0	0	0 0	0 0 0 0 0 0 0	0 0 0 0	0 2 0 0	2 0	0 0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	3 7).429 3	7 0.429	4 7 0.571	5 0	5+ 0	0
R.Melton	M 2 0	1 - (0 4 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 1 0 0	0 1	0 0 0 0	0 1	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	4 6).667 5	7 0.714	4 6 0.667	60	6+ 0	0
T.Messina	M 1 0	2 -	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0 0	0 0 0 0	0 0 0 0	1 0	0 0 0 0	0 0	0 0 0	0 0 0	0 0	0 0 0	0 0 0	0 0 0 0	0 1	0.000 2	3 0.667	0 1 0.000	0 2 0	2+ 0	0 (
T.Miner	M 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0 0 0 0	1 0 0 0	0 1 0 0	1 0	0 0 0 0	0 2						0 0 0 0		0.000 0				1+ 0	
Player Name		W* AW I					KB KD KE KF KI KL KO K	P KS KU IOPOE							H C2 C3 (HB TB IO		Hits AB			-	тов Θ	TOB/O SB S	A R
	Games	Walks	Singles		Trpls	Homers	At the Plate		On the Ground		In the Air	Other	On	Over		Out		Exits	Batting Avg	. (On Base %	Slugging %			
▲ Name of Player Players shown in bold, cc Players shown in colored	I font are current Games Pla	ly Subs on one or m	ore teams. ▲ Singles		1 1	Homers		t of Batter's Box elay of Game	Getting Out ▲ Outs on the Ground GO = Ground Out FC = Fielder's Choice DP = Double Play	▲ Outs in the A FO = Fly Out LO = Line Out AKO = Autom		▲ Other Outs UO = Unknor / = Inning Er	wn Out	▲ Getting Over S2 = Stole 2B S3 = Stole 3B	C2 = Caught S	Stealing Second Stealing Third		Getting Gone ▲ Getting Gone Ej = Ejection In = Injury Su = Substitution		OB = 0 \	v Often You Get On . On Base	A verages ▲ How Effectively You Hi TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt	TOB = Time O	n Base FC+PR+BB+X2	
	GB = Game I BN = Game		/alk (Coed)	ngle	▲ Triples 3 = Triple	s e e	KF = Strikeout - KI = Strikeout - KL = Strikeout KO = Strikeout KP = Strikeou KS = Strikeou	ouls legal Bat Looking - Unknown - Stepped on Plate - Swinging	TP = Triple Play	TKO = Strike TK2 = Doubl	out - Hit Over Fence e Strikeout - Hit Over Fenc e Strikeout - Hit Over Fence	e	▲ Getting On PR = Pinch Rar BB = Base Bur X2 = Extra Inn	ı	BOOB = Bas Θ = BOOBs HB = Hit by TB = Touc	serunner Out On Ba	1	X = Unknown	BA = Batting Ave	age	Walks+Hits+Outs	Hits+Outs Slug = Slugging %age	TOB/O	▲ How O SB = Stolen S2+S3+ SA = Steal SB / (SI	n Base ⊦SH I Averaç
							KU = Strikeo IOP = Intent	t Umpire's Discretion onal Out at the Plate Out Due to Ejection																Runs You Drive In RBI = Runs Batte	

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Getting	g On	-					Getting Out	-			-			1	Running	g Bases			Getting Gor	le		•	A	verages	-			
	Games	Walks	Singles	Doubles	Trpls	Homers		At the Pla	ate	On the Ground		In the	e Air	Oth	ner	On	Over			Out		Exits	Ba	atting Avg.	On E	ase %	Sluggir	ng %			
Player Name	GB GN	W* AW IW	1* 1DB 1CI	1 2* 2GR	R 3	HR HY	KB KD KE K	FKIKLK	KO KP KS KU IOPO	E GO FC DP T	P FO L	O AKO	TKO TK2	tk3 UO	/ F	R BB X2	S2 S3 S	H C2	СЗ СН ВО	ов Θ п	нв тв ю	B Ej In Su	X Hit	as AB BA	OB	PA OBP	TB A	B Slug	тов О	TOB/O S	B SA
J.Minervini	M 1 0	1 - 0	2 0 0	1 0	0	0 0	0 0 0 0	0 0 0	000000	0 0 0 0	0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 3	3 1.000) 4	4 1.000	4 3	3 1.333	4 0	4+ (0 0
S.Morris	M 1 0	0 - 0	0 0 0	0 0	1	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 0 0 0	1	0 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 1	2 0.500) 1	2 0.500	3 2	2 1.500	1 0	1+ (0 0
P.Naves	M 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 0 0 0	0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 1	1 1.000) 1	1 1.000	1 1	1 1.000	1 0	1+ (0 0
R.Orgeron	M 9 0	4 - 0	9 0 0	0 0	1	0 0	0 0 0 0	0 1 (0 0 0 0 0 0	3 2 1	8	10	0 0	0 0	6	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 10	26 0.385	5 14	30 0.467	12 2	6 0.462	16 0	16+ (0 0
M.Ory	M 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	3	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	3 0.000	0 0	3 0.000	0 3	3 0.000	0 0	0+ (0 0
D.Paige	M 3 0	1 - 0	6 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 1 0 0	1	0 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 6	8 0.750) 7	9 0.778	6 8	3 0.750	7 0	7+ (0 0
M.Parvin	M 8 0	0 - 0	6 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 1 0 0 0	5 0 0	9	0 0	0 0	0 0	3	0 0 0	0 0	0 0	0 0 0	0	0 0 0	1 0 0	0 6	21 0.286	6	21 0.286	6 2	1 0.286	6 0	6+ (0 0
D.Paulk	M 1 0	0 - 0	1 0 0	1 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 0 0 0	0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 2	2 1.000	2	2 1.000	3 2	2 1.500	2 0	2+ (0 0
J.Perry	M 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	1	1 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	2 0.000	0	2 0.000	0 2	2 0.000	0 0	0+ (0 0
T.Pesola	M 5 0	0 - 0	5 0 0	1 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0) 1 1 0 (4	1 0	0 0	0 0	2	0 0 0	0 0	0 0	0 0 1	1	0 0 0	0 0 0	0 6	13 0.462	6	13 0.462	7 1	3 0.538	7 1	7 (0 0
S.Phillips	M 2 0	0 - 0	5 0 0	0 0	0	1 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 6	6 1.000	6	6 1.000	9 6	6 1.500	5 0	5+ (0 0
M.Porter	M 6 0	1 - 0	4 0 0	2 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0) 3 0 0 (6	0 0	0 0	0 0	4	0 0 0	0 0	0 0	0 0 1	1	0 0 0	0 0 0	0 6	15 0.400) 7	16 0.438	8 1	5 0.533	7 1	7 (0 0
J.Poulos	M 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	1	0 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 1	2 0.500) 1	2 0.500	1 2	2 0.500	1 0	1+ (0 0
D.Pyland	M 2 0	0 - 0	1 0 0	2 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0) 2 1 0	0	0 0	0 0	0 0	2	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 3	6 0.500) 3	6 0.500	5 6	6 0.833	4 0	4+ (0 0
K.Rachu	M 2 0	0 - 0	5 0 0	0 0	1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0	1	10	0 0	0 0	0	100	0 0	0 0	0 0 0	0	0 0 0	0 0 0	06	8 0.750	6	8 0.750	8 8	3 1.000	6 0	6+ (0 0
R.Ray	M 3 0	2 - 1	4 0 0	2 0	1	0 0	0 0 0 0	0 0 0	0 0 0 0 0	0 0 0 0	0	0 0	0 0	0 0	0	0 0 0	0 0	0 0	0 0 1	1	0 0 0	0 0 0	0 7	7 1.000) 10	10 1.000	11 7	7 1.571	10 1	10 (0 0
N.Reeves	M 10 0	1 - 0	9 0 0	4 0	0	0 0	0 0 0 1	0 0 0	0 0 2 0 0 0	2 1 0	8	2 0	0 0	0 0	6	0 0 0	0 0	0 0	0 0 1	1	0 0 0	0 0 0	0 13	29 0.448	3 14	30 0.467	17 2	9 0.586	15 1	15 (0 0
J.Rosario	M 1 0	0 - 0	1 0 0	0 0	0	0 0	0 0 0 0	0 1 (0 0 0 0 0	0 1 0 0 0	0	0 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 1	3 0.333	3 1	3 0.333	1 3	3 0.333	1 0	1+ (0 0
S.Rubino	M 7 0	3 - 0	8 0 0	3 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 3 4 0 0	1	0 0	0 0	0 0	1	0 0 0	0 0	0 0	0 0 2	2	0 0 0	0 0 0	0 11	19 0.579	9 14	22 0.636	14 1	9 0.737	18 2	9 (0 0
W.Shelburne	M 1 0	0 - 0	0 0 0	0 0	0	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 0 0 0	2	1 0	0 0	0 0	2	2 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 0	3 0.000	0 0	3 0.000	0 3	3 0.000	0 0	0+ (0 0
S.Shreve	M 10 0	2 - 0	16 0 0	1 0	1	0 0	0 0 0 0	0 0 0	0 0 0 0 0 0	0 6 1 0 0	11	1 0	0 0	0 0	6	0 0 0	0 0	0 0	0 0 0	0	0 0 0	0 0 0	0 18	37 0.486	20	39 0.513	21 3	7 0.568	21 0	21+ (0 0
	M 1 0	0 - 0	0 0 0	2 0	0	0 0				0 0 0 0		0 0			_			-				0 0 0	_		-	2 1.000		2 2.000	2 0		0 0
	M 1 0	0 - 0	1 0 0	0 0	0			1	0 0 0 0 0			-					1					0 0 0				1 1.000			1 1		0 0
R.Swancott	M 10 0	0 - 0	10 0 0	3 0	4			1	0 0 0 0 0		_								•					31 0.548	3 17	31 0.548		1 0.903	19 0		0 0
Player Name		W* AW IW			1 1		KB KD KE K		O KP KS KU IOPO									н С2			нв тв ю	BEj In Su		as AB BA					тов Θ	TOB/O S	B SA
	Games	Walks	Singles	Doubles	Trpls	Homers		At the Pl	late	On the Ground Getting Out		In the	e Air	Oth	ler	On	Over	Running		Out		Exits Getting Gor		atting Avg.	On I	ase %	Sluggii verages	1g %			
▲ Name of Player Players shown in bold, ca Players shown in colored	olored font are c d font are current ▲ Games Pla GB = Game BN = Game	ly Subs on one or more yed Batted	e or more teams. e teams. ▲ Singles 1* = only straight Sing 1DB = Dead Ball Sing 1CI - Catcher Interfer alk < (Coed)	gle	I H I F ▲ Triples 3 = Triple	HY = Homer O	side the Park ver the Fence (Yard)	KD = Striked KE = Strike KF = Strike KI = Strike KL = Strik KO = Stri KP = Stri	e Plate out - Out of Batter's Box out - Delay of Game eout - Batter Elsewhere eout - Fouls eout - Illegal Bat seout - Looking ikeout - Unknown rikeout - Stepped on Plate trikeout - Swinging	▲ Outs on the Ground GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	TK2 = Do	ut Out tomatic TK0 ikeout - Hit ouble Strike	0 Over Fence out - Hit Over F out - Hit Over Fe		nknown C ng Ending A (PF Bl	out Out Getting On E Pinch Ran B = Base Burgle		▲ Gettin C2 = Ca C3 = Ca ome CH = C BOOB Θ = B HB = TB =	g Out lught Stealing S	Third Home Out On Bas CH all ase coach	se	▲ Getting Gone Ej = Ejection In = Injury Su = Substitutio X = Unknown	▲ Hov Hits = AB =	At BAt	OB = On Ba W+1+ PA = Plate Walk	n You Get On ▲ se T	How Effectiv B = Total Ba 1+(2x2)+(3x B = At BAt Hits+Ou	ses 3)+(Hx4) its	TOB = Time C	n Base FC+PR+BB+> C2+C3+CH SB = S S2 SA = S	X2 low Often S Stolen Base 2+S3+SH Steal Avera B / (SB+C2-
								KU = S IOP =	Strikeout - Swinging Strikeout Umpire's Discretio Intentional Out at the Plate Official Out Due to Ejectior																					Runs You D RBI = Runs	

The following reflects all stats for all games combined, including Regular Season and PST games Names shown in colored lettering reflect players on current rosters. Bold, colored lettering reflects regular players.

			Getting	On								Gettin	g Out									Runni	ng Bases				Getting	g Gone					Aver	ages					
	Games	Walks	Singles	Doubles	Trpls	s Homers		A	At the Plat	e		On th	e Ground		In	the Air		Other		On	Over			Out	t		Ex	its	Batti	ng Avg.	O	n Base %		Slugging	%				
Player Name	GB GN	W* AW IW	1* 1DB 1CI	2* 2G	R 3	HR HY	KB KD	KE KF I	KI KL KO	KP KS	KU IOPOI	E GO I	C DP	TP FO	LO AF	ко тко 1	тка тка	3 UO /	PR	BB X2	S2 S3	SH C2	C3 CH	BOOB	Θ нв	TB IO	B Ej In	Su X	Hits	AB BA	OB	PA (OBP TI	B AB	Slug	тов	О ТОВ/	Ø SB S	A F
J.Taulbee M	3 0	1 - 0	4 0 0	0 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	1	1 0) 2	0 0	0 (0 0	0 2	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	4	8 0.50	05	9	0.556 4	8	0.500	6	0 6+	0	0
J.Townes M	2 0	0 - 0	2 0 0	2 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0) 2	0 0	0 0	0 0	0 1	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	4	6 0.66	74	6	0.667 6	6	1.000	4	0 4+	0	0
S.Trull M	1 0	0 - 0	1 0 0	1 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	1 0	0 0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	1	1 0	0 0	0 0	0 0	2	3 0.66	72	3	0.667 3	3	1.000	3	1 3	0	0
S.Turok M	2 0	0 - 0	0 0 0	1 0	0	0 0	0 0	0 0	0 0 0	1 0	0 0 0	0	0 0	0 5	0 0	0 0	0 0	0 3	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	1	7 0.14	3 1	7	0.143 2	7	0.286	1	0 1+	0	0
R.Wade M	1 0	0 - 0	1 0 0	1 0	1	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0	0 1	0 0	0 0	0 0	0 1	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	3	4 0.75	03	4	0.750 6	4	1.500	3	0 3+	0	0
M.Waller M	6 0	0 - 0	8 0 0	1 0	1	0 0	0 0	0 0	0 0 0	0 0	0 0 0	1	0 0	0 5	2 () 1	0 0	0 3	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	10	19 0.52	6 10	19	0.526 13	8 19	0.684	10	0 10+	. 0	0
J.Walters M	4 0	0 - 0	7 0 0	0 0	1	0 0	0 0	0 0	0 0 0	0 0	0 0 0	1	0 0	2	1 () 0	0 0	0 4	0	0 0	0 0	0 0	0 0	2	2 0	0 0	0 0	0 0	8	12 0.66	78	12	0.667 10) 12	0.833	8	2 4	0	0
E.Wesner M	1 0	0 - 0	2 0 0	1 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0	0 0	0 0) 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	3	3 1.00	03	3	1.000 4	3	1.333	3	0 3+	0	0
N.Willhite M	2 0	0 - 0	1 0 0	0 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	4	0 0	0 0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	1	5 0.20	0 1	5	0.200 1	5	0.200	1	0 1+	0	0
Jo.Williams M	1 0	0 - 0	0 0 0	1 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	1	0 0	0 0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	1	2 0.50	0 1	2	0.500 2	2	1.000	1	0 1+	0	0
M.Williams M	0 1	0 - 0	0 0 0	0 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0	o o	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0.00	0 0	0	0.000 0	0	0.000	0	0 0+	0	0
C.Winston M	3 0	0 - 0	6 0 0	2 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0	2	1 (0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	8	11 0.72	78	11	0.727 10) 11	0.909	8	0 8+	0	0
J.Wood M	1 0	0 - 0	2 0 0	1 0	0	0 0	0 0	0 0	0 0 0	0 0	0 0 0	0	0 0	0 1	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	0	0 0	0 0	0 0	0 0	3	4 0.75	0 3	4	0.750 4	4	1.000	3	0 3+	0	0
M.Wright M	21 0	5 - 0	20 0 0	9 0	4	0 0	1 0	0 0	0 1 0	0 2	0 0 0	4	2 1) 15	2 (0 0	0 0	0 6	0	0 0	0 0	0 0	0 0	2	2 0	0 0	0 0	0 0	33	61 0.54	1 38	66	0.576 50) 61	0.820	40	2 20	0	0 1
J.Mendoza	19 0	3 0 0	21 0 0	6 0	2	1 0	0 0	0 0	0 0 0	0 0	0 0 0	6	4 1) 14	2 () ()	0 0	0 9	0	0 0	0 0	0 0	0 0	. 1	1 0	0 0	0 0	0 0		57 0.53	-	61	0.557 44	57	0.760	37	1 16.5	i0 n/a n	ı/a
Team Totals		634 0 2	3888 3 1	1072 2	392	182 0	2 0	0 36	0 40 6	7 44	0 1 0	1054	711 ###	0 2522	354 () 26	0 0	2 163	9 66	0 0	0 0	0 0	0 0	264 2	264 3	0 1	3 13	92		10448 0.53	0 6176	11084	0.557 794	4 10448	0.760	6705 2		5 n/a n	_

(182=180m+2f) Team by Year - League - DZ - Extended

Player Name	GB GN	W* AW IV			_		KB KD KE KF KI KL KO KP KS KU IOP			-			С2 С3 СН ВООВ \varTheta НВ ТВ Ю				8	TOB O TOB/O SB SA	A RB
	Games	Walks	Singles	Doubles	Trpl	s Homers	At the Plate	On the Ground	In the Air	Other	On	Over	Out	Exits	Batting Avg.	On Base %	Slugging %		
▲ Name of Player	1		Getti	ng On				Getting Out				F	Running Bases	Getting Gone			Averages		
Players shown in bold, col Players shown in colored	font are current ▲ Games Play GB = Game B BN = Game N	y Subs on one or mo red atted	re teams. ▲ Singles 1* = only straight Si 1DB = Dead Ball S 1CI - Catcher Inter Walk alk (Coed)	ingle	I ▲ Triple 3 = Trip ight Doub	es ple ble	Outs at the Plate KB = Strikeout - Out of Batter's Box KD = Strikeout - Delay of Game KE = Strikeout - Batter Elsewhere KF = Strikeout - Batter Elsewhere KF = Strikeout - Batter Elsewhere KF = Strikeout - Illegal Bat KL = Strikeout - Illegal Bat KL = Strikeout - Unknown KP = Strikeout - Stepped on Plate KS = Strikeout - Stepped on Plate KS = Strikeout - Stepped on Plate KS = Strikeout - Stepped on Plate KD = Strikeout - Stepped on Plate Strikeout - Stepped on Plate KD = Strikeout - Stepped on Plate Stepped Strikeout - Stepped Strikeout Strikeout - Step	GO = Ground Out FC = Fielder's Choice DP = Double Play TP = Triple Play	▲ Outs in the Air FO = Fly Out LO = Line Out AKO = Automatic TKO TKO = Strikeout - Hit Over Fence TK2 = Double Strikeout - Hit Over Fence TK3 = Triple Strikeout - Hit Over Fence	e	wn Out Iding Out ▲ Getting On PR = Pinch Rar BB = Base Bur	S3 = Stole 3B SH = Stole Hom	▲ Getting Out C2 = Caught Stealing Second C3 = Caught Stealing Third le CH = Caught Stealing Home BOOB = Baserunner Out On Base Θ = BOOBs+C2+C3+CH HB = Hit by batted Ball TB = Touched by Base coach IOB = Intentional Out on Base	▲ Getting Gone Ej = Ejection In = Injury Su = Substitution X = Unknown	▲ How Often You Hit Hits = 1+2+3+H AB = At BAt Hits+Outs BA = Batting Average	OB = On Base W+1+2+3+H PA = Plate Appearance	TB = Total Bases 1+(2x2)+(3x3)+(Hx4) AB = At BAt Hits+Outs	Θ = BOOBs+C2+C3+CH TOB/Θ	n Base +SH Average B+C2+C